WHA-31 / SECTION-A
Tae[d 91 % 34 Y=k o1 A fefEn o
(@) I e = S # (by  WE % gwEl W E

Mame the type of current
() Used in household supply &A given by a cc” ¥

2./ i Sl W v & wi e W stwe e 50

How shoot and roots of a plant respond to light ?

j/ TS F R WS I R 9 g i
List any two limitations in harnessing wind energy.
J‘/ FeSOs. 7H:0 3 fateeh #1 i1 feifad | i #73 w = 0 form w3 T 37 70
e = A At et |
Mention the colour of FeS0,. 710 cryslals 7 How does this colour change upon
heating ? Give balanced chemical equation for the cha nge.
5./° TR R = Fertvem 9 9@ A e T W oest T Wi e )
TR 1 Tt iy ferfa |
Explain why calcium metal after reacting with water starts floating on its surface ?
Write the chemical equation for the reaction.
_,b./ 2 C W 12 V avarr F F foegeil & 4=t s § B5 e we w0 aimen
Fia0 |
Calculate the work done in moving a charge of 2 coulombs across two points having
a potential difference of 12V
7/ () TRE e wEw SR e e T wif
(b f*ﬂ?aﬁﬂﬁﬁﬁm%ﬂmﬂﬂ%wﬁﬁ"&ﬁﬂmﬁéﬁmmml
] Draw magnetic field lines around a bar magnet
@)/ The magnetic field in a given region is uniform. Draw a diagram to

represent it.
f Fetferfi 3 s Af

i) w T st sk sl g ¥
(if) M Hehe & Taerd | e # el S W ey e w9 aee W
(i) verEe e It aifafa 3

Giwe reasons for the following
l/(ﬁ’ All decomposition reactions are endothermic reactions.

il L Colourof copper sulphate solution changes when an iron nail is dipped in it
\l:y(( Rethiration is an exothermic reaction.

9. um L v o A 1 ow W W g oy s 1 s oy @ GEEEC R EiE
=l & 6 78 A ) F afafda 8w :
(i) wetedl <X af ey’ F am fafad
(i) = e o E e Tt bl ver e
(iiiy =T el w5t sifafEmet F it fafe

A brown substance *X’ on heating in air forms a substance *Y'. When hydrogen gas

2

f2

Fd

3

Page 3 of 14



is passed over heated ™Y, it again changes back into "X".
Mame the substance ‘X' and 'Y’
)

Mame the chemical processes occurring during both the changes.
(i Write the chemical equations involved in both the changes.

10,7 ' FER-ar’ wimm 4 wrd d1 senel g f@hEd udw s | s . 99 gl 3
U - e =i AyE steifien v 4 mgerg vl w0 A fafad

Name the three prodacts of ‘chlor - alkali process’ 7 Write one commercially or
industrially important material each that can be prepared from each of these

products, e i

1y, Tl wig X 1 4f =m A § wma 3 9w gen g fEm w0 A g A 9eE @ ad 2 3
31 5T S i WA T UE B E WA F9 06 1 TH 8L T H WA AW a9
i gy fatea @i g owg # weatE 58 sl B i w5 #6 9 fafu
fafEd |
A metal X left in moist air for a longer time, loses its shiny brown surface and gains -

a green coat. Why has this happened ? Name and give chemical formula of this
given coloured compound and idenlify the melal. List two ways to prevent this

process,
EV&DW VAR =N A 2 S00W ITAE A A Tad uRied o =2 wEm H 3
st #2130 f&7 # = T e 9w it

A lamp rated 60W and an electric iron rated 800W are used for 6 hours everyday.
Calculate the total energy comsumed in 30 days.

1B, ) fo g el wifEe B 9 afEeewl Ry o Ry B owed w B wE sier 3
E G
(i) e T witay 6 4 O 3 8 O F 7wl w1 owd wn § S s A 3=E d
/ waAtEd o Al S 31 ST J9 wia |

Draw a diagram to show how two resistors R and Ry are connected in

+ parallel.

\9/ L: ;1i];'::uit if two resistors of 4 £ and 8 {} are connected in parallel, find out

the ratio of current passing through the two resistors.

14. et 9 SHER TeE F T A wEm WO e § S g a3
7% fom fafed frmd =0 gasm o e % 9 o g fed T v
[l o JrEhiE 9 1 U2 =i )

List the factors on which the magnetic field produced by a current carrying straight

conductor depends ? State the t'llll?whi{h gives the direction of its magnetic field.
iel

Draw the pattern of magnetic d ‘h}; due to a straight current carrying

conductor.

1. =ity =1 uftafim =ifsw ) oo < e fafaa 3

Define transpiration. State its two functions.
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\/ a) e ufe 4 enfead wE w A fafad o e =) v Tt

(b) it e AT oTew W STATE e AN o 1 SEe €0

c SR 1w T A g 1w A o qu gae s fEte |

a) MName the hormone secreted by thyroid gland and state its function.

i Why is it important for us to have iodised salt in our diet ?
Name Lthe disease caused due to deficiency of iodine and mention its main
symplom.

%Eﬁjﬁmiﬁ[ﬂﬁﬂﬁﬁ?ﬁﬂl T UF 3CE ifed T{‘:Fli‘ﬂlﬁfﬁ]‘ﬁ FRGEG]

&

ToRaT =1 ¥ TS |

Define reflex action ? Give one example. Show with the help of a flow diagram the
path of the reflex action.

(a) T A= $vA % I o (o R 21 el o uEt e |
(by e fe e wam Siam $uEi @ Ten 9 iR ue @ v e e

:{Li’j;/ List any two criteria [or selecting a good fuel.

Explain how does burning ol fossil [uels cause air and soil pollution.

forarcgeles forfad fr o nfe Ho= form v foaem s i 81 9 a3 & =
21w fafad )

Describe how a hydropower plant produces electricity. Write any two advantages
of hydro electric energy.

T FE W §, Wl § SeREe EER MoS ¥ B9 T e gEt ¥

(iy  HRCMe o Am fafed )

(i) 37356 M.S H 91 M 9ra %34 & fem st fafy sf=a g 2 ger&;mrﬂr
frepm 4 2 = aAfatmnet o oo fafed |

(i) iR Tor g A a1 AE st et fafh wee

A metal "M which is one of the best conductor of heat and electricity used in

/ﬁsmmmmaﬁﬁﬁmaﬂ & 3T=g] =T & i f= faem anl & Fmim | g

yﬂing electric wires is found in nature as sulphide ore Mi5 ?

- [} Mame the metal ‘M’
[ Which process will be suitable for extraction of this metal M from its ore

M5 ?
Wrile the balanced chemical reactions involved in the process of extraction.
{iij With the help of a labelled diagram explain the process of electrolytic

refining of the metal.
HUE ~ OR

W E T 1 wufEa feen s 1 gue Us s W e 9 0 e 91 o W

AT THE A B wm*maﬂmﬁmﬂmamﬁmmﬁﬁmﬂm

Zi

(i) a1 B w1 A fafEd |

(i) o W 9 H HeN T W R A AR a9 W 300 & 9 o f9eiad
A WA At arfafEe w atE fafe

(i) 3w fafa = waged s 5/ = uig 59 e FEEE | W o Tt

A metal E is stored under kerosene. When a small piece of it is lefl open in air, it
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calches fire. When the product formed is dissolved in water it turns red litmus to

bliee.

(i)
(it)
(iii)

O

(b)

{a)

I

()
(a)
(b)

()

MName the metal E

Write the chemical equation for the reaction when it is exposed to air and
when the product is dissolved in water.
Explain the process by which the metal is obtained from its molten chloride.

ferait Tard o TR ua S qrEe § T e 9 9 T = i B e e
o1 % AR ST B YL A9 7 T W o S mwumwaﬂraj’ﬁn@%‘{
317 & ATt Wi = w | g

mﬁmwm%ﬁaﬁmﬁﬁmmmm#mmﬂmh :
T T AR o e §7 T eafE i we fahed | 7 A
% =1 = fafed

Cryslals of a substance changed their colour on heating in a closed test tube
but regained it after sometime when they were allowed to cool down. Name
the substance and write its formula and explain the phenomenon involved.
Nawme the compound whose one formula unit is associated with 10 water

molecules. Tlow is it prepared ? Give equations of related reactions, Give
two uses of the compound.

A= S OR

BHIL YA | FIEE uil § | v v 26 e (STeew) §1 wesed e
91 5 pH H {0 g ufiad s St o e g 8w # 1 2eie w
wA w T O G fe v geear faed) 7

At et weol % faere @1 pH OF 7 3 1t 91 A1 20 waw & wsfa w2
fm wavi = s o9 evel sl eml W owEm omEm ¥ TR AWM
ey

(iy  diEfay getke

(i) A0 TR

Tooth enamel is one of the hardest substance in our body. Explain the
changes in pH of the mouth which indicate tooth decay. How does tooth
paste help in preventing it.

What is the nature of the salt if the pH of its solution is greater than 7 7
MName the acid and base would be used to prepare the following salls

(i Potassium sulphate

{ii} Ammonium Chloride

REEGE e e R i A G Rt e

foegm oW | o B AT SEn W W W e S0 whited | S o e
iigiteell

woEgd o Ael o el sl aafmg fw aE vl e g 7

Explain the term : Heating effect of electric current ?

Derive an expression for the heal produced by electric current and state

[oules Laws
Explain why an inert gas like argon is filled in bulbs.

3T S OR
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()
(b)

fervart =1 @ awwd 87 g9 S e fefad )

=0 Al w1 fEiEE S e F o ow favarm e w5l
WA H T WA 8

440, 8 1, 12 0 37 24 1) F 97 Wo0EE % H5IeE 9 e

(iy s aim

(i) =T Wi W e S weal B 7 uiteher e |

Whal is meant by potential difference 7 State its 51 unit.

Mame a device that helps to maintain a potential difference across a
conductor.

Calculate (i) the highest {ii) the lowest resistance that can be obtained
by the combination of four coils of resistances 40, 80, 12 L and 24 (17

foreg et o 1 wfeafva wifed f22 #1 gema 4 us fEame g 5
wrend f ot Freelt 9 wanfen v o afted= um § w o feen | i

FEal B

forelt gl 6 s Y e = < fafer? feafid |

Define electromagneticinduction. With the help of a diagram, explain an
activily to show that change in current flowing through a coil induces

current in the neighbouring coil.
Mention two ways to induce current in a coil.

HoraT / OR

Aite] forep i o1 e syen s witd famd A @ T i
(1) T (iiy  Toem A

(i) Ve weE Gy i

I ST A e STHIO 1 - T AR A S 6 S w22
Draw a schematic labelled diagram of a domestic wiring circuit which
includes :

(i) a main fuse {ii) a power meter

(iii}  an electric bulb iv)  a power plug

Why is it necessary lo connect an earth wire to electric appliances having
metallic covers ?

HAE g5 & e Toa Eiftad 2 59 fefaie & amifea st A
(i) HEIHEA] (i)  FOEA HEA
(iil)  FREA (iv)  HEI

I AT = e T e e eV 2 e o e o 1 B e e |

Jdgaw diagram to show the cross - section of human heart and label on it

{i) - ® aorta (if) pulmonary arteries

(iii)  pulmonary veins (iv}  wenacava

Why do ventricles have thicker, muscular walls than artria ?
SEET £ OR

Hetan O O F Ul & 59 g 9o |
Ty 791 s 58 YRR urd T 7 TuemEd

Explain the process of nutrition in amoeba with the help of diagram.
Explain how does Paramoecium obtain its food.,

Page 7 of 14



P

26.

2

YA-"A/ SECTION - B

Aftan weings i difzan vt % faoa %1 won feH 3 T @ Haa urd g
21 7o afufeE = afiga fem = o &

(a)  AE ATTEE % =9 T

(by  faism sAfgfma & w0 4

(c) fafaramm sfufen & =a 4

(dy  fazemm sfafem & w96

On mixing solutions of Barium chloride and sodium sulphate a white"precipitate is
obtained, This reaction can be categarized as:

1
(a) Combination reaction
(L) Dlecomposition reaction
(c) Double displacement reaction

@_} Displacement reaction

o7 ol A HH Ao & GEeedl 1 S0 uE 6 BeI S e Tl SR
ueRT F e & wragel § ovd fen 3d | 99 S 3 J8AE 7 TR &4 6
Terd faft sEr % wer O T = 1 A wE m e S ey e s R A
fafty =1 veiym 5

;’:\t “ C% ﬁuﬁf -|1 Lri.: P }\ '{”ﬂ\} .
ﬁ. f_.ﬁlfl“ 1'| UI '@k—'ﬂ III' | Tl "":?ﬁﬁz| v é ! B
el /f%:*"' : "ﬁL;_{j — ! \ﬁ % x.:/fS[l ] t,’ﬁ.
<) l:'..‘j () ()
(A () (b)  (b) (© (<) (d)  (d)

Four student in a class were asked to observe the effect of heating ferrous sulphate
crystals. They starled healing ferrous sulphate in a test tube. The teacher stopped

three of them for adopting a wrong procedure for heating. Which of the following
set - ups shows a correct way of heating ?

= f EoT 0

.'-E*;;.a‘l “1 i : ,Jrlﬁ f:\_fﬂbm.q_
geoi Sl L s e 2
5 A (1) -L“’-'?’*.-f L Lﬂﬁ EE _'_'155 i AT
%%f\!‘l ' «.é":".r-fl %, e HJ | T fﬁé’k// l %rl
if 2
fal ik ] (ud)
@  (a) (b}  (b) (€) (e (d)  (d)

TF TE F T 90 G A, B, C, D ¥ T w9 @ HCL KCI F SEE foere,
NaOH @it zirom ol 81 378 % e faeesi 1 pH = a0F 89 €

(a) A B () BERC (¢) C3RD (d) BRD
A student has four samples A, B, C and D containing dil.HCl, aq KCI, dil. NaOT

and distilled water respectively. The solutions with equal pH are :
() A and B () BandC {c) Cand D () B oand D
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28.

29,

30.

= wEl 3 ww, g % @ ok iz 9 FEne F EeeE w pH A 3 e o 1
pH % i %9 1 W 7 B -

(a) il 1w, iz wdEEE

by | % T, o, Hifeas ansEe

(c)  wifewm apsEe, S, g =1 @

(dy =i, Hifgan adeEide, i @

Four students measured the pH values of water, lemon juice and sodium

bicarbonate solution. Correct sequence of solutions in decreasing order of pH value
would be :

(a) water , lemon juice, sodium bicarbonate
{b) lemon juice, water, sodium bicarbonate
{c) sodium bicarbonate, water lemon juice

{d) water, sodium bicarbonalte, lemon juice

A A’ S T faea o feeam o Fen =1 w0 2 e © oo afufEm wm wm 1
FTRESEA 3098 F1 § oI AifgEn FEHe F Wy fEa 96 S et B | o
faeram it Toredg 1 o9 &3 &, Zn & WY AT 519 W 2R 3T Na:.CO. %
my e 559 W CO, T Fm 21 A’ 3R R § o faaeH = wai .

(a) AW apmARBTamE (by AT HEIABH TEE

() A SRBIAEH 21 £ (d AFEBEMAIH B

A solubtion i test tube "A7 turns red litmus blue, evolves hydrogen on reaction with
Zn and does not react with sodivum carbonate, whereas solution in test tube "B’ turns
blue litmus red, liberates hydrogen on reaction with Zn and CO; with Na:CO.,
Solution taken in A" and 'B’ are:

{a) acid in A base in B (b) base in A acid in B

(c) base in both ‘A’ and ‘B’ {d) Aucred in both “A° and B

A, B, C, D THifha 91 Sfadl 394 &0d U & a1y 49 e B ) =9 3 99 1
TE AT A &2

A [5 [ [}
A gl W E g Tel-gm sy
EHL o )y B £ U (d) D

Four stripsTabelled A, B, Cand D along with their corresponding colours are shown
below. Which of these could be made up of Aluminium ?
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31.

-

i [5 L [
Rdidish SHvery [ Tavk e kash
lirivs i LR = A Sy
{a) A (b) B (<) o (d} b

Uk FAFTIET TR BTA 1 Zn F FeSO, e F i afalra #1 ded w3 il Fel
T FRE R T el kS fe E | P e F m it =

wz | famga e =7 oo, °hg '
TRfrdeEs I afam WY

{H:l T’T%:l_"f -y __%"Iﬁ'hl:[ s

(b) | Tem T Tl

(c) | &R Al I

(d) |eemwm | TwEM FIAl

Students in a lab were assigned the experiment to slud}r the reaction of Zn with
FeS0, solution. The following set of observations were obtained. Identify the set
where all observations were correct.

Sel Initial colour Final colour | Deposits, if
| of solution of solution | any
{(a) | colourless colourless Bed
| (b) | colourless pale green Black
(¢} | pale green Blue Black
{d) | palegreen | colourless Black

o wiee @ weifen w0 F1 39 wimes & o o o faverm w s =
v we % o ot v e aw eI fawar W TR ufioe o A o 6
TEE @

(a) R yra-afe aiEhia @ s

(b  sAeier At | st weEis foanm |

(c)  SieeHier dnRdidgs 4 Al Tigdis foErn

(dy  wfmreE T 8 s s ghE ufeiy sEe = |

If a student while studying the dependence of current on the pot{:ntial difference
keeps the circuit closed for a long time to measure the current and potential
cifference, then :

(a) ammeter's zero error will change.

(1) ammeter will show more reading than the actual one.
{c) voltmeter will show higher readings than actual one.
(d) resistor will get heated up and its value will change.
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33. Tt uftay § S T gfdees 9 @ wEed S s suE fal W e favar feam 1

FaER & Wit 1 HE e E
)|
o0 301 .
M 5 s
g
A\ T
(@) 60 (b) 120 ) 20 (dy 150

The current flowing through a resistor connected in a circuit and the potential
difference developed across its ends are shown in the diagram. The approximate

value of the resistor is :
nl 30

P L I

W
(@) 60 € 20 (d)y 15Q

34. Trcﬁamrﬁaﬁ:fﬁaﬂtﬁ%mﬁﬁzﬂaztmm%sﬂéww“l.:{‘éﬁmcrqm‘m%: 1
(@) 20V (b) 5.0V (€) 005V (d) 0025V

In a voltmeter, there are 20 divisions between the 0 mark and 1 mark. The least
count of the voltmeter is :
{a) 207 (b} 5.0V (<) 0.05vV {d) 0.025V

35. T ufigg & fa O 9 © <1 3999 Tvd %9 § Saied 9 T 1

o 3

'.II"
i

Fal
+
S i iy =
|| )
(a) T A e deedler (b) A 3T S
(c)  weEse i wfaEgs (dy  erter @i ufadius

Which twe circuit components are shown connected in parallel in the following
circuit diagram ?

Lo

= AN

L

S el ,
(a) RBheostat and voltmeter (D) Voltmeter and Ammeter
{c) Voltmeter and Resistor (d) Ammeler and Resistor
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36. @ wfadlus R, 2t R, AT weem @ gea sl e w e & fod w e A Fre i 1
=1 - J.

R, R,

| F—(—vww

T

H
@

+ @—
70 uftyy & fed S e Tl 87

(@) =R SR favarm v A wE =

(b)  HRT I T HE W faar ) AT wWEl 6w
(c)  TEvEmR v it A wE T 91 F A Hel A e
(d) =1 FAR fawear v Sl = o wE e

To delermine the equivalent resistance of a series combination of two resistors Ry
and Ry, a student arranges the following sel - up:

4 R,
o : :

fE
l.i ot A e A

Which of the statements will be true for this circuit. It gives:

(a) incorrect reading for current [ as well as potential difference V

(b} correct reading for current I bul incorrect reading for polential
difference V.

] correct reading for potential difference V but incorrect reading for current

(d)  correct readings for both Land V

37, sAEH g = vt R e T e % el H Sarel S 1
()  wrd @ T e e (b)) Sfne g S % ferd |
(¢) Ol @l ALH A % e () SAPEE ¥ me afafmar e
A leal is boiled in alcohol before using iodine for the starch test to ©

{a) dissolve starch (L remove chiorophyll
{c) soften the leaf (d) make il react with iodine

38, *wmﬁw%mmmmaﬁw%'wwﬁﬁamﬁﬁﬁmmﬁ 1
UeEe o e T I S § | U A e @ i
(a)  UehmiG dgd Al arri
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39.

40.

(b) =@ 3w A Fenefl g el 1 Sedl AR A g
(c) el 39T W MY FeiiE i fawtad = g
(d) UEEEE s o

In the experiment to show that light is necessary for photosynthesis, the leaf is
boiled in alcohol for a few minutes using a water bath. It is important because :

{3 alcohol is highly volatile

(b) steam for water bath heats the leaf rapidly

(c) steam for the water bath dissolves the chlorophyll

(d) alcohol is inflammable

qﬁ#ﬁ@ﬂhﬁf‘:{—nmmﬂ AR 99 & = T E

(iy 9 = e frem 11| wle |

(i) U feed 1 9§ F TR WG F56 fawiE w5 bge st
(iii) q?ﬁawaqmmﬁﬁ——ﬁﬁmﬁw

(v) o0 vaA-few § iferd Al AwifA =i 42 =i |

T =R 1 HE T T

(8 {iifJ (iv), (ii), (i) (b} (i), (i), (i), (iv)

(c) (i), (i), (iv). (i) (d) (i), (iv). (i), (i)

Given below are the steps in the preparation of a temporary mount of a stained leaf
peel :

(i) cover the material with the cover slip

(i) transfer the stained peel to the clean glass slide and add a drop of glycerine
(i)  remove the peel from the ventral surface of the leaf

(iv)  drop it in water in a Petridish and add a drop of safranin

The correct sequence of steps is :

(a) (i), (i), (i), (i) (b) (i), (ii). (iii), (iv)

fe) (i), (i), (iv), (i) (d) ), (iv), (i), (i)

Wil it et % v s § 99 F v T e w1 wE e T w0
TET o A

(@) " 1 Yo =e w1 W fE
y/ Te1d &1 gEe | 99 F A

(¢)  Hard W uE i & e
(dy "= = T fE

Instead of water, glycerine is used as mounting medium in the preparation of a
temporary mount of a leaf peel :

(a) Amsenlarge the material by spreading
{b) to prevent the material from drying
() to clean the material

{cd) to colour the material
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41.

42.

e 3 CO, 1 A A 2 uE feme & e e g He e feren utmg Al
i ST T T S TE g i

- : L‘_|'|— 1

O
o oo

2 fre it = e
(a) ST B i) e T T LS
(b) e & e w5 svEn e T T ‘

(c} etk T o i T

(d Wﬁmzﬁémﬁaﬁr@twﬁﬁmﬁmﬁﬁmmmﬁﬂmm

R |
The following experiment was sel up to show that CO; is given out during -
respiration. But there was no rise in the level of water. This was because :

C |

LTI fa",%—‘;ﬂ ‘

R I‘T""
/ |J \
AR
s S e R 4 Y e
2 oo P

GURAINA TTNG SEEDS WaALER
(a) germinating seeds have not been kept under water in the flask
&) waler is kept in the beaker instead of lime water
(g the cork on flask is made of rubber
(el no substance is kept in flask to absorb the gas given oul by the seeds.

sy 6 CO, FrfE B 2 T i w5 arEs WAl e § A5 T @S
vaugd & T siEe e B

(a) TR & HEL H A I

(by T & e

(c)  aispfta &m wii T /1

(dy  ofrr # S 3 R s =

In an airtight experimental set up used to show that €Oz is given out during
respiration, the germinating, seeds obtain oxygen for respiration from :
(a) airin the flask

() water in the beaker
(c moisture in the germinating seeds
d} water absorbed by seeds during spaking

-0Co-
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